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=/_ (=X) f(t)dt (3.4.11)
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000
X0O00O0O0000000000000000000
00000000000000000000000000000000E(x)
0000000000000000 exp[-BE(x) 000000000043 =
1/(ksT)

4 E(x)=Ey(z)—zf(t)0000000000FEy(2)0000 0000000
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mJ0000 0O0O0D0O0OO0OO0OOOD (3.52)000000

o (3.1.43) 0

o(1) = (QU)Q(0) = ChyT expl—— (35.5)

e (33.19)0: 00000ap()0 ot)0000

ap(t) = %exp[—é] (3.5.6)

00000e /R 000000000 IQEA)Q0)0 ap(t) 000000000000
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a(t) 0000 f(t)DOD0O0DO0ODOOOO f()OOOODOODODOUOODOODOO
ggooood

0 t<0
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at)=9(#)000000000000

@ oOo0oooooooood
00000000000 (00 1)000t<00t>000000000000000
2000000000000D0 2000000
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exp[—f2/fo)) 000000 (3.5.18) 000000000 0exp[—f2/fo] 0 fo 000000
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foODOOD
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000(3.525) 00 20000000000000000000007T(z,2,¢;f)0 fo
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0000P(z,t) 0 fpb0000000
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(X)=000O0O00O
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0000000000000000E(x)00000O0
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